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Suppose that f € C?([xg, x1]) for g < w1, and let P(x) be the linear
interpolant for f at zy and x,. Using the theorem given in class on the error

in polynomial interpolation, derive the following bound:

7(@) ~ P@)] < ch* max |(2)],

z€[zo,x1]

where h = 21 — xo.
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[5]

Suppose one seeks a polynomial approximation for e for x € [0, 1] using
equispaced interpolation nodes. Using the result given in Lecture 13 for the
error in polynomial interpolation for this particular case, what is the fewest

number of points that will ensure

m[%x |f(x) — P(2)] <1x107°7?
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